GRCHON 122 HOM@WORK Kc
PAER B0L: «1-4, I-4. 16.18. 26-28,30,3. 3. 8

Vocabulary Apply the vocabulary from this lesson to answer each question.
1. An arc that joins the endpoints of a diameter iscalleda __ ? . (semicircle or

majorard S€.Mm1 CiYele
2. How do you recognize a central angle of a circle? ThE Ver+ex IS the (ﬂ’)m@

3. In ®PmABC = 205° Therefore ABCisa 2 . r minor arc)
4. In acircle, an arc that is less than a semicircleisa ? . (major arc o
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Find each measure. 180- (61 +20) MJL = 30479 3
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— e~ Multi-Step Find each length to the nearest tenth.
16. ®A = @B, and CD = EF. Find mZEBF.
18. EF
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v Xy,

4 CRDZ LEBF MlEBF_-a,(,ﬁ) o ”"1 ¢ EF:2(4429)
4%- oy = =% EPF= 0"+x’=70 E
47 = -3 ¥ LML 155" 2500+ X =11900 L Fr%. O\

m', x*=2400

Xy 4§ 29




Find each measure.

5. mMP
26. mQNL
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30. /K= LM. Find m}?(. Multi-Step Find each length to the nearest tenth.
# 31. CD anhusslf.l
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Determine whether ea true or false. If false, explain why.

33. The central angle of a minor arc is an acute angle.
FAISE. A minor arc 18 alwpuy< less+Hhan
120° SO the central .4 ould be
Obtuset.

Algobn Find the indicated measure.
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